== A
N = 0] &F AF S & AN A
20198 &= 20l & L BESH S A
EXN: Fat
My B4 AMY L3
CHelr SADIBEY (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= A 31,193,660 30,875,325 318,335
= 45,000
g 600,000
Jl 15,272,831
= 15,275,829
o B LG 31,143,860 30,842,173 301,687
= 45,000
g 600,000
Dl 15,272,831
c 15,226,029
el N 5,138,248 6,504,207 N 1,365,959
J| 642,900
o 4,495,348
S Y =SS 2,708 2,708 0
203 €2 F=&d| 2,708 2,708 0
03 Al ZH =X 2= XIH| 2,708 2,708 0
OANEF=XAR =X H| (0l AHE 2E5%) 2,708
FEMsIIES 615,000 952,400 A 337,400
307 212t0| & 120,000 107,000 13,000
04 SIZ2HSHAAISH E & 120,000 107,000 13,000
OE2IIs8e A3 120,000
308 XAHXISH SO0l & 36,000 38,400 AN 2,400
01 AIKSHHEMNEXZ 36,000 38,400 N 2,400
OXSEASMNZ USH XS ALY 36,000
403 XX S M S K201 & 459,000 807,000 A\ 348,000
01 MXSHHXNE2EE X 459,000 807,000 A\ 348,000
OYHsIIHESHEAY 331,500
S MM MH2lAlE K& 112,500
Os2=X Satsd oAsXE 15,000
St X3 1,946,050 2,225,950 A 279,900
308 AKX SHHSOIH 1,921,050 2,225,950 A 304,900
01 AIXSHMEMNEXZ 1,921,050 2,225,950 A 304,900
Qs 298 g4 891,400
Oost=2Me 203t X3 399,600
Oste sEHE sSaXE 314,000
Oste #2L sIEs 175,050
OBt D3S MME B4 ALY 46,000
08t 2% STOX OlAXH 35,000
OostBEdE s EHXE 30,000
OSASIHER, HA) HAZ SFAAY 30,000
403 XX SHS K20 & 25,000 0 25,000




2N
X ZH -
L= B

el

5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 HXSHMA2E X 25,000 0 25,000
O&t2=sIt CCTV A& A 25,000
st 33 XA 40,000 40,000 0
307 glz2tol & 40,000 40,000 0
02 HAHFHAANGFEX 40,000 40,000 0
Osd 82 ZIEYE EHI® 82 40,000
AESI B4 715,000 250,000 465,000
308 XX EHH SOl A 715,000 150,000 565,000
01 AXHHILEES 715,000 150,000 565,000
O2dEsIt LEHMAE 100,000
OLESIt SEAY 615,000
a4 259,000 323,000 A 64,000
308 XXM SOl A 259,000 230,000 29,000
01 AXHHBISEES 259,000 230,000 29,000
O2H=sI Z& 0ol WX 210,000
OLHSIH datd I AL 49,000
JIEIIE=SEXE 651,700 635,000 16,700
308 XX EH SOl A 475,600 360,000 115,600
01 HIXNHHNBMNEES 475,600 360,000 115,600
OgssitsdXld 300,000
OLE=sJt 2EetE N3 AY 100,000
O2saYFEAMNY 57,600
Ostd=0r Megsotd ¢ 25U XA 18,000
403 A X EHHSH20IA 176,100 275,000 298,900
01 X SHMA=2LE L 176,100 275,000 98,900
OMNSSsIISEXNE 117,000
OogadgdsdX 59,100
rEelEs=EMEIXE 37,500 45,000 A7,500
307 21201 A 37,500 45,000 A7,500
02 LB AAFEX 37,500 45,000 A7,500
OXN=FNHENFE L JIINM S K& 37,500
SS=sHtESKE 78,000 0 78,000
J| 60,000
< 18,000
308 MtXIEHSOIH 78,000 0 78,000
J| 60,000
< 18,000
01 HXNHHBHEELS 78,000 0 78,000
Of+=Z= sIIESXE 78,000




2N
X ZH -
L= B

el

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
Il 60,000
< 18,000
St SOHA & 590,230 496, 149 94,081
| 426,700
< 163,530
308 XXM S0 A 590,230 496, 149 94,081
| 426,700
< 163,530
01 AXNSHBLAEES 590,230 496, 149 94,081
Ostds0t g43tAtY 590,230
| 426,700
< 163,530
sad s0ty 223 N 143,000 130,000 13,000
| 110,000
< 33,000
308 XXIEtH S0 A 143,000 130,000 13,000
| 110,000
< 33,000
01 IXNHHBANEES 143,000 130,000 13,000
ORrad sty FH2I XA 143,000
J| 110,000
< 33,000
SE2Z sS04 60,060 13,000 47,060
J| 46,200
< 13,860
308 Xt XIEHH SOl A 60,060 13,000 47,060
| 46,200
= 13,860
01 AXSGHBLELS 60,060 13,000 47,060
Os&2Z sitE4dst 60,060
| 46,200
< 13,860
SMFHorE 14,175,171 13,702,073 473,098
| 9,276,630
< 4,898,541
SHE BdHE 84 88,000 0 88,000
307 gl2+tol & 88,000 0 88,000
04 DI2HHALALSE E X 88,000 0 88,000
OFHESHEM & BRI &It 70,000
OFAS A HI =& S A0l AFE 210%) 18,000
OtE=EXAE 28 XA 47,010 47,010 0
308 XX EHHSOIA 47,010 47,010 0
01 AXNSHHEBAMNEES 47,010 47,010 0
OOSEXANELRRXA 47,010




EXN: Fat
a4 B L
SRl ELAY T (29l 8)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
HESRS MAMXA 1,233,300 1,509, 800 A 276,500
308 XAHXIEHSOIA 700,800 581,000 119,800
01 AIXSHMENEX= 700,800 581,000 119,800
OLNEZL Gt EAE MA 355,800
OFMsI XA ALY 210,000
O&FEA I Mo A AFY 135,000
403 XX SHHS K20 & 532,500 928,800 A 396,300
01 XIS A2 X 532,500 928,800 A 396,300
OYsAYe slfst 466,500
OFAsI Uss ES)] NIAYE 66,000
N=EMHEE (Z2IHEEXNL) 550,000 450,000 100,000
308 XNXIEHMSOIA 550,000 450,000 100,000
01 AIXSHMENMNEX= 550,000 450,000 100,000
OJJIEMHEE Il A& 550,000
HDeRIA X 2,515,500 2,533,302 A 17,802
J| 2,096,250
& 419,250
308 XX GHHM SO0l & 2,515,500 2,533,302 N 17,802
J| 2,096,250
& 419,250
01 AIKISHHEMNEXZ 2,515,500 2,533,302 N 17,802
Ostnesaza N 2,515,500
J| 2,096,250
& 419,250
UFEXAIZ DBt XA 504,500 570,000 A 65,500
308 AMXISHMSOIA 15,000 21,000 A 6,000
01 AXHHIMNEXS 15,000 21,000 A 6,000
OWEX T ZAIES MaAE IR 15,000
403 XX SHS K20 & 489,500 549,000 A 59,500
01 AIXISHHM A2 X 489,500 549,000 A 59,500
OXANSMAZEH X 345,000
OTMR A= HHE D X & 65,000
OSZE X AlE MALZEH K& 79,500
TANEMME SIHF2EY XS 2,128,000 2,516,866 A\ 388,866
J| 1,680,000
& 448,000
308 XX EHSO|IA 2,128,000 2,516,866 A\ 388,866
J| 1,680,000
= 448,000
01 AIKISHHEMNEXZ 2,128,000 2,516,866 A\ 388,866
OAMZEZ2(Z=.=IHEXNL XS 2,128,000




2N
X ZH -
L= B

el

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %E& HRE2

Pl 1,680,000
& 448,000

TANSMAZ AFL2IXHE K& 4,451,544 4,159,922 291,622
J| 3,709,620
= 741,924

308 XAHXIEHSOIA 4,451,544 4,159,922 291,622
J| 3,709,620
o 741,924

01 AIXSHMEMNEX= 4,451,544 4,159,922 291,622
OFEBe2 E Atel X MZH X 4,451,544
J| 3,709,620
< 741,924

HEEUIXZAHEAE2 A2l K& 952,320 781,200 171,120
J| 768,000
& 184,320

308 XHXIGH SO0l & 952,320 781,200 171,120
J| 768,000
& 184,320

01 IXHHNIMNEXS 952,320 781,200 171,120
OSSR =4 AL XNHE XS 952,320
J| 768,000
= 184,320

MBI ETHdE S22 X 131,075 122,010 9,065
J| 107,000
o= 24,075

308 AMXISHMSOIA 131,075 122,010 9,065
J| 107,000
o= 24,075

01 AIXSHMENEXZ 131,075 122,010 9,065
OFSHXN =482 SH2Y XN 131,075
J| 107,000
= 24,075

HSUXNXTLE AU X2 149,002 139,200 9,802
J| 102,760
& 46,242

308 XHXIEH SOl A 149,002 139,200 9,802
J| 102,760
& 46,242

01 AIXISHHEMNEX= 149,002 139, 200 9,802
ONEHX XHEE g HHl K& 149,002
J| 102,760
o= 46,242

HRONZHE J|HEH2Y X 377,000 0 377,000
J| 260,000
= 117,000

403 XX SRS K 20| & 377,000 0 377,000




2N
X ZH -
L= B

el

SA - BB B () - MM - BES Ol &t o San HmEET
Jl 260,000
< 117,000
01 HIXSHMA2E X 377,000 0 377,000
OMdB2HX =4& JIAHFH XN 377,000
J| 260,000
< 117,000
IMSHAZ JIAZH T XA 930,000 750,000 180,000
J| 465,000
< 465,000
403 XIS E X201 & 930,000 750,000 180,000
J| 465,000
< 465,000
01 AXSHHMA2E = 930,000 750,000 180,000
OXAE Mo BAMEH XA 930,000
J| 465,000
= 465,000
IMNE SE22 XA 117,920 32,763 85,157
J| 88,000
< 29,920
403 X SHHSA=0l& 117,920 32,763 85,157
J| 88,000
< 29,920
01 HIXESHMA2E X 117,920 32,763 85,157
OZAE S22l AtY 117,920
J| 88,000
< 29,920
dEF=MxY 10,488,691 10,393,043 95,648
J| 5,353,301
< 5,135,390
II=E=HZSAEXA 3,166,500 2,640,000 526,500
308 XXM SO0 A 1,270,000 1,265,000 5,000
01 IXNHHBNEES 1,270,000 1,265,000 5,000
OF&sIt AFHMZ MR 1,270,000
403 XIS E X201 & 1,896,500 1,375,000 521,500
01 AXSHHMA2E = 1,896,500 1,375,000 521,500
OJI=EER MelAle X3 1,679,000
Oorsttg s483d =4 217,500
LHZAZ Al SAH HE MY 786,500 457,500 329,000
201 L2l 13,500 9,000 4,500
01 At 22l 13,500 9,000 4,500
OUIZAS Al FAtehH JH o (0l & E 2H10%) 13,500
202 (4 Hl 9,000 4,500 4,500
01 = LH YI 9,000 4,500 4,500




2N
X ZH -
L= B

el

SA - ZE-B(EN) - NRAY - B S il &t o il RS2

OUWZEASZAl SaretH NS (0l & E 210%) 9,000

308 XXM SOIA 444,000 444,000 0

01 IXNSHHBANEES 444,000 444,000 0
OWREAMEA FotorH M Hd AIEXE 34,000
OWZEAGSA S&sIF SFIE AYAY 410,000

403 MtXISHHE A0l & 320,000 0 320,000

01 XM A=2E X 320,000 0 320,000
OUZEAMEA S&sIH dHNMZAMEXA 320,000

=&zl XA 1,435,647 2,090,400 A 654,753
J| 1,104,344
= 331,303

308 XtXIEHHSOIA 1,435,647 2,090,400 A 654,753
J| 1,104,344
< 331,303

01 X HHILEES 1,435,647 2,090,400 A 654,753
Oyl &= K& 1,435,647
J| 1,104,344
< 331,303

I=E2s Eddis X& 403,975 650,000 A 246,025
J| 310,750
< 93,225

403 UHXSHHSA=0l& 403,975 650,000 A 246,025
J| 310,750
< 93,225

01 HXSHHMA2E X 403,975 650,000 A 246,025
ON=E=2h EHdls X 403,975
J| 310,750
< 93,225

SSAES MY ALEH XA 245,000 1,715,000 A 1,470,000
J| 200,000
< 45,000

403 MtXISHHE A0l & 245,000 1,715,000 A 1,470,000
J| 200,000
< 45,000

01 AXSHMA=2EE 245,000 1,715,000 A 1,470,000
OZ2sXEAIERE 245,000
J| 200,000
< 45,000

SN E dHXE AlEZH X 2,741,200 0 2,741,200
J| 2,447,500
< 293,700

403 A X EHHS 20l A 2,741,200 0 2,741,200
J| 2,447,500
< 293,700




2N
X ZH -
L= B

el

SN P SA(EN) - MBAY - BES

Off &t 24

=

i
2

01 AR SHHA 2L

OX=2=0UXs AILXE

J|

H

2,741,200

2,741,200

2,447,500
293,700

2,741,200

HHMEE X

X

131,820

101,400
30,420

450,800

A 318,980

403 TtXI M SA=01A

Il

H

131,820

101,400
30,420

450,800

A 318,980

01 HXSHHG=EE

OAHIMEFEXE

Jl|

2l

131,820
131,820

101,400
30,420

450,800

A 318,980

12
=
10
Ot
rz
HO
B
Jn

Jl

H

180,000

120,000
60,000

360,000

180,000

403 MR SHHSKHE 0l &

hn X

180,000

120,000
60,000

360,000

180,000

01 AR SHHA =22 =

OHHI RS

Il

H

180,000

180,000

120,000
60,000

360,000

A 180,000

mn <

24,050

18,500
5,550

24,050

403 A XM S =0l A

mn <

24,050

18,500
5,550

24,050

01 AXISHHA=2E =

Oddl d=2=47 XN&

hn X

24,050
24,050

18,500
5,550

24,050

J|

376,675

289,750
86,925

1,052,350

A675,675

403 TtXI M S A =01 A

Il

H

376,675

289,750
86,925

1,052,350

A675,675

mn <

376,675
376,675

289,750
86,925

1,062,350

A675,675

19,500

19,500




2N =
ZE: S4B

21

(=)
CHel: XISIHEMXA e X
ot &l Soads &

SN - EAEA) - MRAL

01
o

Off &t 24

=

M
2
==
£l
Ol
0y

mn

15,000
4,500

403 AXHHSXH=0lA

mn <

19,500

15,000
4,500

19,500

01 XM= ExE

y

f

19,500

19,500

15,000
4,500

19,500

Bl

stsolg e X (RMXESH)(E)

Il

22,714

11,357
11,357

21,

831

307 glztol &

J|

H

22,714

11,357
11,357

21,

831

mn <

22,714
22,714

11,357
11,357

21,

831

Jl

H

955,110

734,700
220,410

955,

308 MHXItHMS0IH

Jl

H

955,110

734,700
220,410

955,

01 MM B &2

o
oalnjorga=

H

955,110
955,110

734,700
220,410

955,

oW

,341,750

45,000
600,000
696,750

242,

1,098,900

222,750

209,

13,700

308 AtXIEHHMSO0IE

222,750

209,

13,700

01 AXSHHBAEES

RIISS MY

222,750
222,750

209,

13,700

RIIS=S €2 HE X

o

52,800

24,000
28,800

52,800

403 TtXI M S A =01 A

o

52,800

24,000
28,800

52,800

01 XXl Al Xt

®
0
>
0
=
o i
THo
e
00
o
00
>
o

52,800
52,800

52,800




N L1
My B4 AMY L3
&?e: ss2s2e (=& J)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 24,000
= 28,800
2020 sd3tx== N 46,200 0 46,200
= 21,000
< 25,200
403 UHXSHHSA=0l& 46,200 0 46,200
= 21,000
< 25,200
01 HXSHMA=E X 46,200 0 46,200
Oz120l sd3at=+==Hl X& 46,200
= 21,000
< 25,200
greisE Mg =sd 1,020,000 0 1,020,000
s 600,000
< 420,000
403 UtXISHH S A0l & 1,020,000 0 1,020,000
as 600,000
= 420,000
01 XS M A=2EE 1,020,000 0 1,020,000
O==E23HdH X XI& 1,020,000
s 600,000
< 420,000
HY I ZH (F4tD) 49,800 33,152 16,648
Jl2ZH(Z4t) 49,800 33,152 16,648
Jl2dl(S4k) 49,800 33,152 16,648
201 et 23,400 15,650 7,750
01 At 221l 23,400 15,650 7,750
OAtE 22l tl 23,400
202 O4dl 23,400 15,650 7,750
01 = LH 4 b 23,400 15,650 7,750
O=U o Hi 23,400
203 YR =&t 3,000 1,852 1,148
04 FN2ELSZ=TH| 3,000 1,852 1,148
ORAN2EYE=4HI 3,000




